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[bookmark: _GoBack]Every year, many students graduate from their universities to take a job. However, many of them do not find suitable jobs and remained unemployed. Unfortunately, appropriate jobs are not provided for graduates in society. There are essential causes that develop this situation but measures could be taken to tackle these problems.
In my opinion, there are some basic problems which cause together to form this economically catastrophic situation. One of them is that the production rate decreased over the years for several reasons. The ungovernable increasing inflation, tax increasing, and international sanctions over primary materials are some factors that inhibit the development of producation. Finally, companies get trends to fire qualified employees to reduce their expenditures. It seems that there is an unbalanced relationship between job offers and demands. Recently the number of universities has grown and the number of applicants has increased. Therefore, highly qualified graduates are rising but industrial companies are getting bankrupted little by little.
These problems might be corrected by qualified economists and politicians. Firstly, economists should be appointed at a suitable position and take full responsibility for related activities. They should motivate producers by inhibiting inflation, reducing tax, giving a low-interest loan. As production gets better, more graduates get employed. Secondly, companies should apply highly qualified graduate rather than usual people. Because they help companies to improve their incomes and decrease their expenditures by working more efficiently rather than the others. They are creatice and full of academic knowledge.
In sum, incompetent economists and politicians made poor decisions that lead to this catastrophic situation. To refine these problems, they should revise their poor decisions and take new measures effectively.
